
MATHS

BOOKS - OBJECTIVE RD SHARMA MATHS

VOL I (HINGLISH)

AREAS OF BOUNDED REGIONS

Section I Solved Mcqs

1. The area bounded by the curve

 isy = |x| − 1 and y = − |x| + 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hGiZ1tTJFnKl


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

√2

4

2. The area bounded by the curve

above the x-axis will be-(Where [] represents

greatest integer function)

y = [ + 2], y = x − 1, y = x − 1 and x = 0
x2

64

https://dl.doubtnut.com/l/_hGiZ1tTJFnKl
https://dl.doubtnut.com/l/_88PITJdjFVtI


A. 2

B. 3

C. 4

D. none of these

Answer: C

Watch Video Solution

3. Find the area bounded by  and lines 

.

A. 4

y = xe |x |

|x| = 1, y = 0

https://dl.doubtnut.com/l/_88PITJdjFVtI
https://dl.doubtnut.com/l/_gxtBvPdc8esl


B. 6

C. 1

D. 2

Answer: D

Watch Video Solution

4. The area bounded by the curves y=lnx, y=ln|x|,

y=|lnx| and y=|ln|x|| is

A. 5

B. 2

https://dl.doubtnut.com/l/_gxtBvPdc8esl
https://dl.doubtnut.com/l/_gcDKvJvirxvC


C. 4

D. none of these

Answer: B

Watch Video Solution

5. Let f(x) be a continuous function such that the

area bounded by the curve  the x-axis,

and the lines  and  a. Then,

A. 

B. 

y = f(x),

x = 0 x = ais1 + sin
a2

2

( ) = 1 +
π

2

π2

8

f(a) = 1 + sina
a2

2

https://dl.doubtnut.com/l/_gcDKvJvirxvC
https://dl.doubtnut.com/l/_7Rt6vLZI4qOh


C. 

D. none of these

Answer: c

Watch Video Solution

f(a) = a sina + cos a
1

2

6. Area bounded by 

is

A. 

B. 

C. 

|x − 1| ≤ 2 and x2 − y2 = 1,

6√2 + ln∣∣3 + 2√2∣∣
1

2

6√2 + ln∣∣3 − 2√2∣∣
1

2

6√2 − ln∣∣3 + 2√2∣∣

https://dl.doubtnut.com/l/_7Rt6vLZI4qOh
https://dl.doubtnut.com/l/_JhHUEayXP3eU


D. none of these

Answer: C

Watch Video Solution

7. The area bounded by the curve 

and its inverse function between the ordinates

 and  is

A. 

B. 

C. 4

f(x) = x + sinx

x = 0 x = 2π

4π

8π

https://dl.doubtnut.com/l/_JhHUEayXP3eU
https://dl.doubtnut.com/l/_4yTrMcD9uSZ1


D. 8

Answer: D

Watch Video Solution

8. Area bounded by  x-axis

and ordinates  and  is

A. 

B. 

C. 1

D. none of these

f(x) =
(x − 1)(x + 1)

x − 2

x = 0 x =
3

2

4
5

7
8

https://dl.doubtnut.com/l/_4yTrMcD9uSZ1
https://dl.doubtnut.com/l/_eegPbcGM2Xoa


Answer: B

Watch Video Solution

9. The area of the region

 is

A. 

B. 

C. 

D. 

Answer: C

R = {(x, y) : |x| ≤ |y| and x2 + y2 ≤ 1}

3π

8

5π

8

π

2

π

8

https://dl.doubtnut.com/l/_eegPbcGM2Xoa
https://dl.doubtnut.com/l/_1cyHNhGISppF


Watch Video Solution

10. If  then the

area of the region bounded by the curves

 x-axis, Y-axis and  is

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

f(x) = max {sinx, cos x, },
1

2

y = f(x), x =
5π

3

√2 − √3 +
5π

12

√2 + +
√3

2

5π

12

√2 + √3 +
5π

12

https://dl.doubtnut.com/l/_1cyHNhGISppF
https://dl.doubtnut.com/l/_S9EirhDs8ZFc


11. The area bounded by the x-axis, the curve


 and the lines 
 is equal to 


 for all 
 then 
 is


(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

y = f(x), x = 1, x = b

√b2 + 1 − √2 b > 1, f(x) √x − 1

√x + 1 √x2 + 1
x

√1 + x2

√x − 1

√x + 1

√x2 − 1

x

√x2 + 1

https://dl.doubtnut.com/l/_S9EirhDs8ZFc
https://dl.doubtnut.com/l/_6GkvvwUL3Q8t


12.  makes positive intercepts of 2 and 1

unit on x and coordinate axes and encloses an area

of 3/4 square unit with the axes, then

 is

A. 

B. 1

C. 

D. 

Answer: d

Watch Video Solution

Ify = f(x)

∫
2

0
xf' (x)dx,

3

2

5

4

−3

4

https://dl.doubtnut.com/l/_6GkvvwUL3Q8t
https://dl.doubtnut.com/l/_0IaxCqXuFzU3


13. If a curve  passes through the

point (1,2) and the area bounded by the curve, line

x=4 and x-axis is 8 square units, then

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

y = a√x + bx

a = 3, b = − 1

a = 3, b = 1

a = − 3, b = 1

a = − 3, b = − 1

https://dl.doubtnut.com/l/_0IaxCqXuFzU3
https://dl.doubtnut.com/l/_rngw03xVlGzX
https://dl.doubtnut.com/l/_XHIjXVbWtXfD


14. If the area enclosed between the curves


 is 
 square unit, then

find the value of 

A. 

B. 

C. 1

D. 

Answer: A

Watch Video Solution

y = ax2andx = ay2(a > 0) 1

a.

1

√3

1

2

1

3

https://dl.doubtnut.com/l/_XHIjXVbWtXfD


15. The area of the region bounded by the curve

 and the x-axis is

A. 4

B. 2

C. 3

D. 1

Answer: D

Watch Video Solution

y = |x − 2|, x = 1, x = 3

https://dl.doubtnut.com/l/_Sh4825jpt6V8


16. Sketch the region bounded by the curves


and 
and find its area.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = √5 − x2 y = |x − 1|

− 2
5π

4

5π − 2

4

5π − 2

2

− 5
π

2

https://dl.doubtnut.com/l/_m538TUFmVFsA


17. The area enclosed between the curves

 (in square units), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x and y = 2x − x2

1

2

1

6

1

3

1

4

https://dl.doubtnut.com/l/_HWII1V5PrYz3


18. The area enclosed between the curve

 and the coordinate axes is

A. 4

B. 3

C. 2

D. 1

Answer: D

Watch Video Solution

y = loge(x + e)

https://dl.doubtnut.com/l/_ugWm5u8uufR5


19. The parabolas 
 divide the

square region bounded by the lines 

and the coordinate axes. If 
 are the areas

of these parts numbered from top to bottom,

respectively,
 then
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: a

y2 = 4xandx2 = 4y

x = 4, y = 4

S1, S2, S3

S1 : S2 ≡ 1: 1 S2 : S3 ≡ 1: 2

S1 : S3 ≡ 1: 1 S1 : (S1 + S2) = 1: 2

1: 1: 1

2: 1: 2

1: 2: 3

1: 3: 2

https://dl.doubtnut.com/l/_5vOYl07K92xY


Watch Video Solution

20. The area enclosed between the curves

 is

A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

y2 = x and y = |x|

1

6

1

3

2

3

https://dl.doubtnut.com/l/_5vOYl07K92xY
https://dl.doubtnut.com/l/_rjE0NRZy1qbS
https://dl.doubtnut.com/l/_PB0zWvPmSwIr


21. The area of the region bounded by the parabola

, the tangent to the parabola at

the point  and the x-axis is

A. 3

B. 6

C. 9

D. 12

Answer: c

Watch Video Solution

(y − 2)2 = x − 1

(2, 3)

https://dl.doubtnut.com/l/_PB0zWvPmSwIr


22. The area bounded by the curves  and 

 between the ordinates  and 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = cos x

y = sinx x = 0

x =
3π

2

4√2 − 1

4√2 + 1

4√2 − 2

4√2 + 2

https://dl.doubtnut.com/l/_080nvYBIW9hz


23. Let  be a continuous function

such that  for all  Let

 and  be the area of the

region bounded by  and

the x-axis . Then,

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f : [1, 2] → [0, ∞)

f(x) = f(1 − x) x ∈ [ − 1, 2].

R1 = ∫
2

− 1
xf(x)dx, R2

y = f(x), x = − 1, x = 2

2R1 = R2

R1 = 3R2

2R1 = 3R2

3R1 = R2

https://dl.doubtnut.com/l/_KdVrXvRnc5ln


24. If  where  and

 is a relation. Then find the domain

and Range of .

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

R1 = {(x, y) ∣ y = 2x + 7, x ∈ R

−5 ≤ x ≤ 5}

R1

3

4

1
2

1

3

1

4

https://dl.doubtnut.com/l/_KdVrXvRnc5ln
https://dl.doubtnut.com/l/_Q94NxpEFUtWN


25. The area (in sqaure units) of the region enclosed

by the curves  and the positive

x-axis is

A. 

B. 1

C. 

D. 

Answer: C

Watch Video Solution

y = x, x = e, y =
1

x

1

2

3

2

5

2

https://dl.doubtnut.com/l/_cFCvkzqG6XE0


26. The area of the region bounded by the curve

 , and the lines , y=8 and x=0, is

A. 16

B. 8

C. 10

D. 12

Answer: D

Watch Video Solution

y = x3

https://dl.doubtnut.com/l/_oO01hejXpos1


27. Let 
 be the area of the region enclosed by 


 Then



 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

S

y = e−x ^ 2, y = 0, x = 0, andx = 1.

S ≥
1

e
S ≥ 1 =

1

e
S ≤ (1 + )

1

4

1

√e

S ≤ + (1 − )
1

√2

1

√e

1

√2

S ≥
1

e

S ≥ −
1

e

S ≤ (1 + )
1

4

1

√e

S ≤ + (1 − )
1

√2

1

√e

1

√2

https://dl.doubtnut.com/l/_1HNQpyFJvS4R


28. The area bounded by the curves

 X-axis and lying in the

first quadrant is

A. 9

B. 36

C. 18

D. 

Answer: A

Watch Video Solution

y = √x, 2y − x + 3 = 0,

27/4

https://dl.doubtnut.com/l/_1HNQpyFJvS4R
https://dl.doubtnut.com/l/_CIcogSMnbgtA
https://dl.doubtnut.com/l/_nTQUGsZ65YXG


29. The area enclosed by the curves

 over the

interval 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = sinx + cos x and y = |cos x − sinx|

[0, ]
π

2

4(√2 − 1)

2√2(√2 − 1)

2(√2 + 1)

2√2(√2 + 1)

https://dl.doubtnut.com/l/_nTQUGsZ65YXG


30. Find the ratio in which the area bounded by the

curves 
 is divided by the

line 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 12x and x2 = 12y

x = 3.

245
4

147
4

45
4

137
4

https://dl.doubtnut.com/l/_pVWQNMbK82wT


31. The area of the region described by

 and  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = {(x, y) : x2 + y2 ≤ 1 y2 ≤ 1 − x}

−
π

2

2

3

+
π

2

2

3

+
π

2
4
3

−
π

2
4
3

https://dl.doubtnut.com/l/_XQd6mv0gelMq


32. The area (in square units) of the region bounded

by  , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 2x and y = 4x − 1

15

64

9

32

7
32

5

64

https://dl.doubtnut.com/l/_uChDSq28iSyn


33. Suppose that  denotes the area of the

region bounded by  and 

, where .

Then the value of  when  is (A) 4

(B) 5 (C) 6 (D) 9

A. 4

B. 5

C. 6

D. 9

Answer: c

Watch Video Solution

F (α)

x = 0, x = 2, y2 = 4x

y = |αx − 1| + |αx − 2| + αx α ∈ {0, 1}

F (α) +
8√2

3
α = 0

https://dl.doubtnut.com/l/_Lrf67COGZAVM


34. Suppose that  denotes the area of the

region bounded by  and 

, where .

Then the value of  when  is (A) 4

(B) 5 (C) 6 (D) 9

A. 5

B. 6

C. 7

D. 9

Answer: a

F (α)

x = 0, x = 2, y2 = 4x

y = |αx − 1| + |αx − 2| + αx α ∈ {0, 1}

F (α) +
8√2

3
α = 0

https://dl.doubtnut.com/l/_Lrf67COGZAVM
https://dl.doubtnut.com/l/_fze5dgM27eRp


Watch Video Solution

35. Let  for all  and 

 be continuous function . For 

, if F'(a)+2 is the area of the region

bounded by x=0, y=0, y=f(x)` and x=a , then f(0), is

A. 1

B. 2

C. 3

D. 6

Answer: c

F (x) = ∫
x2 +π / 6

x

2 cos2 dt x ∈ R

F : [0, 1/2] → [0, ∞]

a ∈ [0, 1/2]

https://dl.doubtnut.com/l/_fze5dgM27eRp
https://dl.doubtnut.com/l/_xH6D8AXY0zUE


Watch Video Solution

36. The area of the region bounded by the curve C

 nad the line y=1 , is

A. ml 

B. 

C. 

D. In 

Answer: c

Watch Video Solution

: y =
x + 1

x2 + 1

− In2 +
1

2

π

4

In2 − + 1
π

4

In2 + − 1
1

2

π

4

2 − + 1
π

2

https://dl.doubtnut.com/l/_xH6D8AXY0zUE
https://dl.doubtnut.com/l/_3HiCiXl7cKnu


37. The graph of  and 

intersect at two points, If the area of the region over

the interval  is equal to , then the value of 

 is

A. 20

B. 2

C. 6

D. 12

Answer: c

Watch Video Solution

f(x) = x2 g(x) = cx3

[0, ]
1

c

2

3

( + )
1

c

1

c2

https://dl.doubtnut.com/l/_xKW5ZEaGxWkf


38. The area of the region bounded by the curves

 and y=2 which lies to the right

of the line x=1, is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: c

Watch Video Solution

y = x2, y = ∣∣2 − x2∣∣

( )
12 − 20√3

2

( )
20 − √2

3

( )
20 − 12√2

3

( )
12 − 20√2

3

https://dl.doubtnut.com/l/_zDLxPDwsaHCm
https://dl.doubtnut.com/l/_aHAASMfVyScn


39. The area (in sq. units) of the region 

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

{(x, y) : y2 ≤ 2x and x2 + y2 ≤ 4x, x ≥ 0, y ≤ 0},

π −
4

3

π −
8

3

π −
4√2

3

−
π

2

2√2

3

https://dl.doubtnut.com/l/_aHAASMfVyScn


40. If the line  bisects the area under the

curve  , then a is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = a

y = , 1 ≤ x ≤ 9
1

x2

4
9

9

5

5

9

9

4

https://dl.doubtnut.com/l/_Bl7UgMuYf7Yf


41. The area (in sq. units) of the region described by

is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

A = {(x, y) : y ≥ x2 − 5x + 4, x + y > 1, y ≤ 0}

7
2

13

6

17
6

19

6

https://dl.doubtnut.com/l/_88peMLXs1hnf


42. Area of region 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

{(x, y) ∈ R2 : y ≥ √|x + 3|, 5y ≤ x + 9 ≤ 15}

1

6

4
3

3

2

5

3

https://dl.doubtnut.com/l/_f6o2Ri9wwW6X


43. The area (in sqaure units) of the region

is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

{(x, y) : x ≥ 0, x + y ≤ 3, x2 ≤ 4y and y ≤ 1 + √x}

59

12

3

2

7
3

5

2

https://dl.doubtnut.com/l/_fVfKz9iprZ2p


44. If the line  divides the area of region 

 into

two equal parts, then

A. 

B. 

C. 

D. 

Answer: b,c

Watch Video Solution

x = α

R = {(x, y) ∈ R2 : x3 ≤ y ≤ x, 0 ≤ x ≤ 1}

0 < α
1

2

< α < 1
1

2

2α4 − 4α2 + 1 = 0

α2 + 4α2 − 1 = 0

https://dl.doubtnut.com/l/_H0byLrBN25aY


Exercise

1. Using integration, find the area bounded by the

curves  and .

A. 2

B. 3

C. 4

D. 1

Answer: C

Watch Video Solution

y = |x − 1| y = 3 − |x|

https://dl.doubtnut.com/l/_JduT8pD9XCYM
https://dl.doubtnut.com/l/_BJO4kToi5FAi


2. The area of the figure bounded by the curves

 and  , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 2x + 1 x − y − 1 = 0

2/3

4/3

8/3

16/3

https://dl.doubtnut.com/l/_BJO4kToi5FAi


3. Find the area bounded by the curve 

and the straight line 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 2x − x2

y = − x

9/2

43/6

34/6

11

2

https://dl.doubtnut.com/l/_cjfyvpExlgxC


4. The area of the region bounded by 

and  is

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

y = |x − 1|

y = 1

1/2

3/2

https://dl.doubtnut.com/l/_mahi5ggU5wAW


5. The area bounded by the curve , x-axis

and the ordinates x=1,x=-1 is given by

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

y = x|x|

1/3

2/3

https://dl.doubtnut.com/l/_R7ce435cjaxr


6. Area of the region bounded by the curves

 is given

by :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 2x, y = 2x − x2, x = 0  and x = 2

−
3

log 2

4
3

+
3

log 2

4
3

2log2 −
4
3

2 log2 −
4
3

https://dl.doubtnut.com/l/_5huexerIMvEe


7. Area lying in the first quadrant and bounded by

the circle  the line  and x-axis ,

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4 x = √3y

π

π/2

π/3

π/4

https://dl.doubtnut.com/l/_G56cI9QQ59Oa


8. 
 is the
 positive quadrant of the ellipse


 in which 
 . Then

find the area between the arc 
 and the
 chord


of the ellipse.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

AOB

+ = 1
x2

a2

y2

b2
OA = a, OB = b

AB

AB

ab(π + 2)
1
2

ab(π − 4)
1

4

ab(π − 2)
1

4

https://dl.doubtnut.com/l/_DHVwoQFr3PqF


9. The area of the region lying between the line

 and the curve ,

is

A. 9

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − y + 2 = 0 x = √y and y − aξs

9/2

10/3

5/2

https://dl.doubtnut.com/l/_H7jET2Mnondr


10. The area cut off from a parabola by any double

ordinate is k time the corresponding rectangle

contained by the double ordinate and its distance

from the vertex. Find the value of k ?

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

1/2

1/3

2/3

https://dl.doubtnut.com/l/_UvzLDTW1rJCE
https://dl.doubtnut.com/l/_WbsBIZm6Ae4p


11. Area between the curve  and x-

axis in square units , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 4 + 3x − x2

125/3

125/4

125/6

25

https://dl.doubtnut.com/l/_WbsBIZm6Ae4p


12. If A is the area between the curve  and

x-axis in the interval  , then in the same

interval , area between the curve  x-

axis, is

A. A

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = sinx

[0, π/4]

y = cos x and

π/2 − A

1 − A

A − 1

https://dl.doubtnut.com/l/_LEgg9hAGkd36
https://dl.doubtnut.com/l/_877fEvOm6oLl


13. If A is the area lying between the curve

 x-axis between x=0  .

Area of the region between the curve

-axis in the same interval is given

by

A. 

B. A

C. 

D. 

Answer: B

Watch Video Solution

y = sinx and and x = π/2

y = sin 2x and x

A/2

2A

3/2A

https://dl.doubtnut.com/l/_877fEvOm6oLl


14. The area of the loop between the curve

 and x-axis is (A)  (B)  (C)  (D) none

of these

A. a

B. 2a

C. 3a

D. 4a

Answer: B

Watch Video Solution

y = a sinx a 2a 3a

https://dl.doubtnut.com/l/_877fEvOm6oLl
https://dl.doubtnut.com/l/_7uYUVBy7AMTE
https://dl.doubtnut.com/l/_Cm9Z1YE6DzOi


15. Area (in square units) of the region bounded by

the curve y-axis and the line  , is

A. 2

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y2 = 4x, y = 3

9/4

6√3

https://dl.doubtnut.com/l/_Cm9Z1YE6DzOi


16. If  is the area of the parabola  lying

between vertex and the latusrectum and  is the

area between the latusrectum and the double

ordinate , then  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A1 y2 = 4ax

A2

x = 2a
A1

A2

2√2 − 1

(2√2 + 1)/7

(2√2 − 1)/7

https://dl.doubtnut.com/l/_08LL1uv0INFr
https://dl.doubtnut.com/l/_7KCPW9Lx0I1O


17. The area of the region bounded by , 

 and x-axis in the first quadrant is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y = sinx

y = cos x

√2(√2 − 1)

√3 + 1

2(√3 − 1)

https://dl.doubtnut.com/l/_7KCPW9Lx0I1O


18. The area bounded by the curves


and the line 
is


(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = xex, y = xe−x x = 1 sq
.
units

2

e

1 − sq
.
units

2

e
sq

.
units

1

e
1 − sq

.
units

1

e

2

e

1 −
2

e

1

e

1 −
1

e

https://dl.doubtnut.com/l/_3ZsltbyQRDYr


19. The value of k for which the area of the figure

bounded by the curve , the straight

line  and  and the x-axis is equal to 

A. 2

B. 

C. 3

D. 

Answer: B

Watch Video Solution

y = 8x2 − x5

x = 1 x = k

16/3

3√8 − √17

−1

https://dl.doubtnut.com/l/_JvChmVVHHzBv
https://dl.doubtnut.com/l/_VSwV85uuY0Tm


20. The figure into which the curve  divides

the circle  are in the ratio

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = 6x

x2 + y2 = 16

2

3

4π − √3

8π + √3

4π + √3

8π − √3

https://dl.doubtnut.com/l/_VSwV85uuY0Tm


21. What is the area bounded by the curves

 and the straight line  ?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y = ex, y = e−x x = 1

e +
1

e

e −
1

e

e + − 2
1

e

https://dl.doubtnut.com/l/_S7fiC7zzHbke


22. The area bounded by the y-axis, y=cos x and

, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = sinx, 0 ≤ x ≤ π/4

2(√2 − 1)

√2 − 1

√2 + 1

√2

https://dl.doubtnut.com/l/_NUWp1GXT6kB2


23. The positive value of the parmeter 'a' for which

the area of the figure founded by

 is 3, is

equal to

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = sinas, y = 0, x = π/a and x = π/3a

1/2

2 + √3

3

3/2

https://dl.doubtnut.com/l/_2w8RJ9q3LgWH
https://dl.doubtnut.com/l/_zUM8UJrjb8ST


24. If area bounded by the curve  and 

 is  , then the value of m, is

Watch Video Solution

y2 = 4ax

y = mx a2 /3

25. The area (in square units) bounded by the curve

, the x-axis and the ordinates at 

 is

A. 

B. 

C. 

D. 

y = x3

x = − 2 and x = 1

17/2

15/2

15/4

17/4

https://dl.doubtnut.com/l/_zUM8UJrjb8ST
https://dl.doubtnut.com/l/_osYJp68rIklw


Answer: D

Watch Video Solution

26. The area bounded by

 and the y axis is

A. 

B. 

C. 1

D. 

Answer: B

y = x2, y = [x + 1], x ≤ 1

1/3

2/3

7/3

https://dl.doubtnut.com/l/_osYJp68rIklw
https://dl.doubtnut.com/l/_yB1SepxzPqFy


Watch Video Solution

27. Find the area bounded by the x-axis, part of the

curve 
 , and the ordinates at 


 If the ordinate at 
 divides

the area into two equal parts, then find 

A. 

B. 

C. 

D. 

Answer: B

y = (1 − )
8

x2

x = 2andx = 4. x = a

a.

2√2

±2√2

±√2

±2

https://dl.doubtnut.com/l/_yB1SepxzPqFy
https://dl.doubtnut.com/l/_XeP3N2T9gYer


Watch Video Solution

28. The area bounded by the curve  (where

), the co-ordinate axes & the line  is

given by . Therefore  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = f(x)

f(x) ≥ 0 x = x1

x1. ex1 f(x)

ex

xex

xex − ex

xex + ex

https://dl.doubtnut.com/l/_XeP3N2T9gYer
https://dl.doubtnut.com/l/_bZS6LXYqqmC0


29. The area enclosed within the curve ,

is

A. 1

B. 1.5

C. 2

D. 3

Answer: C

Watch Video Solution

|x| + |y| = 1

https://dl.doubtnut.com/l/_bZS6LXYqqmC0
https://dl.doubtnut.com/l/_1XsnBpiLRUQT


30. The area of the triangle formed by the positive


 and the normal and tangent to the circle 


 at 
 is
 
 (b) 


 
(d) none of these

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − aξs

x2 + y2 = 4 (1, √3) 2√3sq
.
units

3√2sq
.
units √6sq

.
units

√3

1/√3

2√3

3√3

https://dl.doubtnut.com/l/_cjjHoaijXDdQ
https://dl.doubtnut.com/l/_kUkHDZDQHlQR


31. The area of the region for which

 and , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

o < y < 3 − 2x − x2 x > 0

3

∫

1

(3 − 2x − x2)dx

3

∫

0

(3 − 2x − x2)dx

1

∫

0

(3 − 2x − x2)dx

3

∫

− 1

(3 − 2x − x2)dx

https://dl.doubtnut.com/l/_kUkHDZDQHlQR
https://dl.doubtnut.com/l/_EUnk8PMOIDFP


32. The area between the curve 
 the

axis, and the ordinates of the two minima of the

curve is
 11/60 sq. units
 (b) 7/120 sq. units
 1/30 sq.

units
(d) 7/90 sq. units

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 2x4 − x2,

7/120

9/120

11/120

13/120

https://dl.doubtnut.com/l/_EUnk8PMOIDFP
https://dl.doubtnut.com/l/_GKKI21B8LNLV


33. Find the area bounded by the curve 
and

the straight line 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 = 4y

x = 4y − 2.

3/8

5/8

7/8

9/8

https://dl.doubtnut.com/l/_GKKI21B8LNLV


34. The area of the region bounded by the curve

 is to that of the circle

whose radius is a, is given by the ratio (a) 4:5 (b) 5 8

(c) 2 3 (d) 3:2.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a4)(y2) = (2a − x)(x5)

4: 5

5: 8

2: 3

3: 2

https://dl.doubtnut.com/l/_U0rPKX6gv4JX
https://dl.doubtnut.com/l/_nqPZk3C28k7n


35. The area between  and the

straight line  is (A)  (B)  (C) 

 (D) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 1
x2

a2

y2

b2

+ = 1
x

a

y

b
πab

1
2

ab
1
2

−
πab

4
ab

2
ab

1

4

ab
1

2

πab
1

2

ab
1

4

πab − ab
1

4

1

2

https://dl.doubtnut.com/l/_nqPZk3C28k7n


36. The area induced between the curves 

and  is given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y =
x2

4a

y =
8a3

x2 + 4a2

a2(2π − )
4

3

a2(π − )
4

3

a2(2π + )
1

3

a2(π + )
4

3

https://dl.doubtnut.com/l/_WkVHOe12kWoD


37. The area cut off from a parabola by any double

ordinate is k time the corresponding rectangle

contained by the double ordinate and its distance

from the vertex. Find the value of k ?

A. 

B. 

C. 

D. 3

Answer: A

Watch Video Solution

2/3

3/2

1/3

https://dl.doubtnut.com/l/_UuKpT9XfRU03
https://dl.doubtnut.com/l/_h6r1Yb6dEClo


38. Area bounded by the curve  between .

 and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = sinx

x = 0 x = 2π

2π

2π

4π

π

https://dl.doubtnut.com/l/_h6r1Yb6dEClo


39. The slope of the tangent to a curve  at 

 is  If the curve passes through the

point  then the area of the region bounded by

the curve, the x-axis and the line  is (A)  (B) 

 (C)  (D) 

A. 

B. 

C. 

D. 6

Answer: A

Watch Video Solution

y = f(x)

(x, f(x)) 2x + 1.

(1, 2)

x = 1
5

6
6

5

1

6
1

5/6

6/5

1/6

https://dl.doubtnut.com/l/_7wM8pih7zljS


40. The area of the ellipse  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

a2

y2

b2

πab

(a2 + b2)
π

4

π(a + b)

πa2b2

https://dl.doubtnut.com/l/_7wM8pih7zljS
https://dl.doubtnut.com/l/_xZG6HNjAwEli


41. Smaller area enclosed by the circle 

and line x+y=2 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 4

2(π − 2)

π − 2

2π − 1

π − 1

https://dl.doubtnut.com/l/_QaEOBEuUin1c


42. The area cut off a parabola  by the

straight line  in square units, is

A. 16

B. 41

C. 27

D. 36

Answer: B

Watch Video Solution

4y = 3x2

2y = 3x + 12

https://dl.doubtnut.com/l/_SZbFvWyXOMVc


43. Find the area
 of the region bounded by the

parabola 
and the line 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 = 4y\ x = 4y − 2

9/8

9/4

9/2

9/7

https://dl.doubtnut.com/l/_dA0F1zu9lyrI


44. Find the area lying in the first quadrant and

bounded by the curve 
and the line 

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

y = x3 y = 4x.

https://dl.doubtnut.com/l/_azNOn9AzAzDC


45. The area in square units of the region bounded

by the curve , the line x=2 and the x-axis, is

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 = 4y

2/3

4/3

8/3

https://dl.doubtnut.com/l/_2W8ZNIIquYuq


46. The area bounded by the x-axis and the curve

 is

A. 

B. 

C. 7

D. 

Answer: A

Watch Video Solution

y = 4x − x2 − 3

4/3

3/4

3/2

https://dl.doubtnut.com/l/_ZhndBBLaZqHM


47. Find the area enclosed between the parabola

and the line .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax y = mx

5a2

3

8a2

3m3

7a2

4m2

3a2

5m

https://dl.doubtnut.com/l/_GQjSrwlenAyL


48. The area bounded by  X-

axis in  is

A. log 2

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = tanx, y = cot x,

0 ≤ x ≤
π

2

log 2
1

2

2  log ( )
1

√2

log 2
3

2

https://dl.doubtnut.com/l/_EJkRZfALzTmm


49. Area lying between the curves and 

is(A)  (B)  (C)  (D) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4x

y = 2x
2

3

1

3

1

4

3

4

2/3

1/3

1/4

1/2

https://dl.doubtnut.com/l/_XOBLXrZOVN2H


50. Area common to the circle  and the

parabola  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 64

y2 = 4x

(4π + √3)
16

3

(8π − √3)
16

3

(4π − √3)
16

3

https://dl.doubtnut.com/l/_pFpsu0XfvgZh


51. The area of the figure bounded by the curve

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

|y| = 1 − x2,

2/3

4/3

8/3

−5/3

https://dl.doubtnut.com/l/_uhOeg2T3DNcx


52. Find the area of the figure bounded by the

parabolas 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = − 2y2, x = 1 − 3y2.

8/3

6/3

4/3

2/3

https://dl.doubtnut.com/l/_suIWJ7l2QLVR


53. The area bounded by  and x - axis

between  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x|sinx|

x = 0, x = 2π

2π

3π

4π

5π

https://dl.doubtnut.com/l/_wUkTc7XHZCu6


54. The area of the region bouned by the curve

 and the line  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = 2x − x2 y = x

1/2

1/3

1/4

1/6

https://dl.doubtnut.com/l/_nYZrKiJQ570f


55. Find the area bounded by the curve


 lying between the

ordinates 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = (x − 1)(x − 2)(x − 3)

x = 0andx = 3.

9/4

11

4

11/2

7/4

https://dl.doubtnut.com/l/_c4OJ3rZvVl7u


56. Area common to the curves  and 

 is (A)  (B)  (C)  (D) none of these

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = √x

x = √y 1
2

3

1

3

2/3

1/3

4/3

https://dl.doubtnut.com/l/_QCgetc6PPGyn


57. The equation of the common tangent to the

parabolas and  is given by

A. (8/3) ab

B. (16/3) ab

C. (4/3) ab

D. (5/3) ab

Answer: B

Watch Video Solution

y2 = 4ax x2 = 4by

https://dl.doubtnut.com/l/_lTxoUtrjHkA9


58. Area (in square units) of the region bounded by

 for  ,(where [ ] denotes the

greatest integer function) is

A. 4

B. 8

C. 5

D. 10

Answer: B

View Text Solution

[x]2 = [y]2
x ∈ [1, 5] ⋅

https://dl.doubtnut.com/l/_kq8cK1iB8iRl


59. If denotes the area bounded by

 x-axis ,  and  ,

then

A. 

B. 

C. 

D. none of these

Answer: D

View Text Solution

f(x) =
∣
∣
∣

∣
∣
∣

sinx + cos x

x
x = π x = 3x

1 < A < 2

0 < A < 2

2 < A < 3

https://dl.doubtnut.com/l/_245M2YmpXdT8


60. Find the area of the region bounded by the

curves  where [.]

denotes G.I.F.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x2 and y = sec− 1[ − sin2 x],

(4 − π)3 / 21

3

(8(4 − π)3 / 2

(4 − π)3 / 28

3

(4 − π)1 / 28

3

https://dl.doubtnut.com/l/_Ojra1a1rVj14


61. The area of the region included between the

regions satisfying  and 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

min (|x|, |y|) ≥ 1

x2 + y2 ≤ 5

( − ) − 4
5

2

sin− 1(2)

√5

sin− 1(1)

√5

10( − ) − 4
sin− 1(2)

√5

sin− 1(1)

√5

( − ) − 4
2

5

sin− 1(2)

√5

sin− 1(1)

√5

15( − ) − 4
sin− 1(2)

√5

sin− 1(1)

√5

https://dl.doubtnut.com/l/_3z0XaSWxiuFe
https://dl.doubtnut.com/l/_2Kesf0ONcVKy


62. If  all  and y=f(x) makes

positive intercepts of 2 and 1 unit on x and y axes

respectively and enclose an area of  sq. units with

axes, then  is

A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

f(x) ≥ 0 x ∈ (0, 2)

3

4

∫
2

0

xf' (x)dx

3

4

5

4

−
3

4

https://dl.doubtnut.com/l/_2Kesf0ONcVKy


Chapter Test

1. Area bounded by the curves 

and  is (A)  (B)  (C)  (D) 

A. 4

B. 5

C. 3

D. 6

Answer: B

Watch Video Solution

y = |x − 1|, y = 0

|x| = 2 4 8 5 9

https://dl.doubtnut.com/l/_nD9GRGHlMO3N
https://dl.doubtnut.com/l/_IRLhxF6NrGqH


2. The area inside the parabola 
 but

outside the parabola 
 is


 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5x2 − y = 0

2x2 − y + 9 = 0

12√3sq
.
units 6√3sq

.
units 8√3sq

.
units

4√3sq
.
units

12√3

6√3

8√3

4√3

https://dl.doubtnut.com/l/_IRLhxF6NrGqH
https://dl.doubtnut.com/l/_w7LH8AUGRo20


3. The area bounded by the curve 

and the line x = 2a is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2(2a − x) = x3

3πa2

3πa2

2

3πa2

4

πa2

4

https://dl.doubtnut.com/l/_w7LH8AUGRo20


4. Area bounded by the curve 
and

the y-axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

xy2 = a2(a − x)

πa2 /2

πa2

3πa2

2πa2

https://dl.doubtnut.com/l/_MYccc9IvubB7


5. The area of the loop of the curve


 is
 
 (b) 


(d) None of these

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ay2 = x2(a − x) 4a2sq
.
units sq

.
units

8a2

15

sq
.
units

16a2

9

4a2

15

a28

15

a216

15

a232

5

https://dl.doubtnut.com/l/_qLdpl2X4QVeS


6. Find the area common to the circle

 and the parabola 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = 16a2

y2 = 6ax, a > 0.

(4π − √3)
4a2

3

(8π − 3)
4a2

3

(4π + √3)
2a2

3

https://dl.doubtnut.com/l/_VKmdeDiKGHLr


7. The line 
bisects the area enclosed by the

curve 
 and the lines 


Then the value of 
is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = mx

y = 1 + 4x − x2

x = 0, x = andy = 0.
3

2
m

13/8

13/32

13/6

13/14

https://dl.doubtnut.com/l/_ppWl00GsLPfl


8. The area between the curve  and x-axis

where  , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x sinx

o ≤ x ≤ 2π

2π

3π

4π

π

https://dl.doubtnut.com/l/_7uSBLhPySBEG


9. The area bounded by the curves 

and , is

A. 

B. log(4/e)

C. 2log(4/e)

D. log(8/e)

Answer: C

Watch Video Solution

y = ex, y = e−x

y = 2

log( )
16

e

https://dl.doubtnut.com/l/_LxiFYjtj6ZRC


10. The area bounded by the curve

 is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = a cos3 t, , y = a sin3 t,

3πa2

8

3πa2

16

3πa2

32

3πa2

https://dl.doubtnut.com/l/_HHAYxZGjPn03


11. If  is the area enclosed by the curve  x-

axis and the ordinates  is the

area enclosed by the curve  x-axis and the

ordinates  then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A1 xy = 1,

x = 1, x = 2, and A2

xy = 1,

x = 2, x = 4,

A1 = 2A2

A2 = 2A1

A2 = 3A1

A1 = A2

https://dl.doubtnut.com/l/_nDFUEwObkPhK
https://dl.doubtnut.com/l/_kn8z736y8qP1


12. If area bounded by the curve  and 

 is  , then the value of m, is

A. 1

B. 2

C. 3

D. 

Answer: B

Watch Video Solution

y2 = 4ax

y = mx a2 /3

√3

https://dl.doubtnut.com/l/_kn8z736y8qP1


13. The value of a for which the area between the

curves  and  is 1 unit is

A. 

B. 4

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax x2 = 4ay

√3

4√3

√3/4

https://dl.doubtnut.com/l/_IyAONafXZBiI


14. The area bounded by the curves 
the x-

axis, and the ordinates 
 is 


 Then 
 is.





None of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y = f(x),

x = 1andx = b

(b − 1)sin(3b + 4). f(x)

(x − 1)cos(3x + 4) sin(3x + 4)

sin(3x + 4) + 3(x − 1)cos(3x + 4)

(x − 1)cos(3x + 4)

sin(3x + 4)

sin(3x + 4) + 3(x − 1)

https://dl.doubtnut.com/l/_vJLdqWof0fZf


15. The area bounded by the curve  axis

and  is

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = sin 2x,

y = 1,

1/4

π/4

π/4 − 1/2

https://dl.doubtnut.com/l/_vJLdqWof0fZf
https://dl.doubtnut.com/l/_eyVk86ll8Im2


16. The area between the curve

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = − 2y2 and x = 1 − 3y2,

4/3

3/4

3/2

2/3

https://dl.doubtnut.com/l/_oVBW2ecRvVnp


17. The area between the curves  x-axis

and the line  is

A. 

B. 1

C. 3

D. 2

Answer: A

Watch Video Solution

y = cos x,

y = x + 1,

1/2

https://dl.doubtnut.com/l/_mjcSK1v8wGXH


18. The area bounded by  oand the

tangents to it drawn from the origin, is

A.  sq. units

B.  sq. units

C.  sq. units

D. none of these

Answer: C

Watch Video Solution

y = x2 + 1

8/2

1/3

2/3

https://dl.doubtnut.com/l/_IdtmMehwCvMj


19. The positive value of the parmeter 'a' for which

the area of the figure bounded by

 is 3, is

equal to

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = sinas, y = 0, x = π/a and x = π/3a

1/2

2 + √3

3

√3

https://dl.doubtnut.com/l/_961aaPUN8gYc
https://dl.doubtnut.com/l/_uVNXCUgvUn7e


20. The area in square units bounded by the curves

 and the ordinates  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = x3, y = x2 x = 1, x = 2

17/12

12/13

2/7

7/2

https://dl.doubtnut.com/l/_uVNXCUgvUn7e


21. The area bounded by the curve  and the

ordinate  is divided in the ratio  by the

ordinate x=a. Then a=

A. 8

B. 9

C. 7

D. 0

Answer: B

Watch Video Solution

y2 = x

x = 36 1: 7

https://dl.doubtnut.com/l/_RaWz7JiLNjTs


22. The area contained between the x-axis and one

area of the curve  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = cos 3x,

1/3

2/3

2/7

2/5

https://dl.doubtnut.com/l/_EL7eAkj5AQ9R


23. The area of the figure bounded by 

is in square units,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|y| = 1 − x2

4/3

8/3

16/3

5/3

https://dl.doubtnut.com/l/_fRoICmXdEIMa


24. The area of the figure bounded by

 is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y = ex− 1, y = 0, x = 0 and x = 2

< 2

> 2

= 2

https://dl.doubtnut.com/l/_xeqMtrD7oupo


25. The area of the region on place bounded by max

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(|x|, |y|) ≤
1

2

1/2 + ln 2

3 + ln 2

31/4

1 + 2 ln 2

https://dl.doubtnut.com/l/_m4HCXag4Fok0


26. The area of the closed figure bounded by


 and the tangents to it at 


 is
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = − 2x + 2
x2

2

(1, )and(4, 2)
1

2
sq

.
units

9

8
sq

.
units

3

8

sq
.
units

3

2
sq

.
units

9

4

9/8

3/8

3/2

9/4

https://dl.doubtnut.com/l/_DddYOi3wt0Zi


27. The area of the closed figure bounded by

 is

A. 

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

y = 1/cos2 x, x = 0, y = 0 and x = π/4,

π/4

1 + π/4

https://dl.doubtnut.com/l/_W7hg3UQCWqtI


28. The area (in square units) of the closed figure

bounded by

 and

the abscissa axis, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = − 1, x = 2 and y = {
−x2 + 2,x ≤ 1

2x − 1,x > 1

16/3

13/3

13/3

7/3

https://dl.doubtnut.com/l/_3FDmQa1xFYyM


29. The area boundd by

 is

A. 

B. 2+3ln(3sqrt(3)/4)

C. 

D. 

Answer: B

Watch Video Solution

y = 2 − |2 − x| and y = ,
3

|x|

4 + 3 ln 3
2

ln 3
3
2

+ ln 3
1
2

https://dl.doubtnut.com/l/_5VmRiPY1y9hd


30. The area of the region bounded by

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2y − 3 = 0 and y = |x| + 1,

π

2π

4π

π/2

https://dl.doubtnut.com/l/_58AoHxGCbZRb


31. The area of the region bounded by

 is

A. 2

B. 3

C. 4

D. 1

Answer: C

Watch Video Solution

y = |x − 1| and y = 3 − |x|,

https://dl.doubtnut.com/l/_8IPzzHhp35S7


32. Find the area of the closed figure bounded by

the curves 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = √x, y = √4 − 3xandy = 0

4/9

8/9

19/9

5/9

https://dl.doubtnut.com/l/_Tbwz8kIXN2li


33. The area of the closed figure bounded by the

curves 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = cos x, y = 1 + x and x = π/2,
2

π

π + 4
4

3π − 4
4

3π

4

π

4

https://dl.doubtnut.com/l/_RR2H4txl2GYu


34. For which of the following values of 
 is the

area of the regions bounded by the curve


and the line 
equal 
 
 (b) 


(c) 2
(d) 4

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

m

y = x − x2 y = mx ?
9

2
−4

−2

−4.4

−2, 2

2, 4

−2, 3

https://dl.doubtnut.com/l/_DyqQwjaz0WnP
https://dl.doubtnut.com/l/_MQ0oewhAItGS


35. The area bound by the curve  then x-

axis and the lines  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = secx,

x = 0 and x = π/4,

log(√2 + 1)

log(√2 − 1)

log 2
1

2

√2

https://dl.doubtnut.com/l/_MQ0oewhAItGS


36. The area bounded by the parabola  the

x-axis and the latusrectum, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 8x,

16

3

23

3

32

3

16√2

3

https://dl.doubtnut.com/l/_FX5JvQeBs7Ow


37. The area (in square units) bounded by the curve

 is

A. `64(3*sqrt(2)-1/3)

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 8x and x2 = 8y,

3

16

14
3

3

14

https://dl.doubtnut.com/l/_j1kuBdW01N4l


38. If the area bounded by the curve y=f(x), x-axis and

the ordinates x=1 and x=b is (b-1) (3b+4), then-

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

sin

(x − 1)cos(3x + 4)

sin(3x + 4)

sin(3x + 4) + 3(x − 1)cos(3x + 4)

https://dl.doubtnut.com/l/_hKEPsJbVPIKs


39. The area in square units of the region bounded

by the curve , the line x=2 and the x-axis, is

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 = 4y

2/3

4/3

8/3

https://dl.doubtnut.com/l/_81XXhta2XVce


40. The area enclosed between the curve


 and the line 
 above the 


 is
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2(2a − x) = x3 x = 2

x − aξs πa2sq
.
units sq

.
units

3πa2

2

2πa2sq
.
units 3πa2sq

.
units

πa2

3/2πa2

2πa2

3πa2

https://dl.doubtnut.com/l/_gsqaE8vplTJr


41. The area bounded by the curve  and

x-axis is (A)  sq. units (B)  sq. units (C)  sq.

units (D)  sq. units

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 4x − x2

30

7

31

7

32

3
34
3

30

7

31

7

32

3

34
3

https://dl.doubtnut.com/l/_udu6MHgrbE0z


42. Area bounded by the parabola  and the

line  is (A)  (B)  (C)  (D) 

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

y2 = x

2y = x
4
3

1
2

3

1

3

4/3

2/3

1/3

https://dl.doubtnut.com/l/_IjgSO3zxx8N5


43. Area between the x-axis and the curve ,

when  is

A. 0

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

y = cos x

0 ≤ x ≤ 2π

https://dl.doubtnut.com/l/_yACqark44kkv


44. The ratio of the areas between the curves

 and  and x-axis from  to 

 is (A)  (B)  (C)  (D) none of these

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y = cos x y = cos 2x x = 0

x =
π

3
1: 3 2: 1 √3: 1

1: 2

2: 1

√3: 1

https://dl.doubtnut.com/l/_GpHgtE8neFcD


45. Find the area bounded by the parabola


and the straight line 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = x2 + 1 x + y = 3.

45
7

3

2

32

3

3

32

https://dl.doubtnut.com/l/_ZhKpMnghBAif


46. The area common to the parabolas  and 

 (in square units) is (A)  (B)  (C) 

(D) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 2x2

y = x2 + 4
2

3

3

2

32

3
3

32

2

3

3

2

32

3

3

32

https://dl.doubtnut.com/l/_QOpQFeF8mFhO


47. The area of the region

 , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

{(x, y) : x2 + y2 ≤ 1 ≤ x + y}

π

5

π

4

π2

4

−
π

4

1

2

https://dl.doubtnut.com/l/_u4bJpjYfnskH


48. Examples: Find the area bounded by the

parabola  and its latus rectum.

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

a24
3

a28

3

a2

3

https://dl.doubtnut.com/l/_aPGoO2rIJjuJ


49. The area bounded by the curve

 with x-axis and ordinates

corresponding to the minima of y, is

A. 1

B. 

C. 

D. 4

Answer: B

Watch Video Solution

y = x4 − 2x3 + x2 + 3

91

30

30

9

https://dl.doubtnut.com/l/_f9dWGrDQUYzW


50. Find the area common to two parabolas

 and  using integration.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 = 4ay y2 = 4ax,

8a3

3

16a2

3

32a2

3

64a2

3

https://dl.doubtnut.com/l/_ZSOT8xf5PJsv


51. The area (in square units) bounded by curves

y=sinx between the ordinates x=0,  and the x-

axis , is

A. 2

B. 4

C. 3

D. 1

Answer: A

Watch Video Solution

x = π

https://dl.doubtnut.com/l/_8B04zGVGL0Oq


52. The area of the region bounded by the parabola

, the tangent to the parabola at

the point  and the x-axis is

A. 3

B. 6

C. 7

D. none of these

Answer: C

Watch Video Solution

(y − 2)2 = x − 1

(2, 3)

https://dl.doubtnut.com/l/_Skp6HmIKfVfx


53. Find the area enclosed between the curves:

 & the x-axis.

A. 2

B. 1

C. 4

D. none of these

Answer: A

Watch Video Solution

y = loge(x + e), x = loge( )
1

y

https://dl.doubtnut.com/l/_3u3uymroWpCV


54. Find the area of the region formed by

.  and .

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 − 6x − 4y + 12 ≤ 0 y ≤ x x ≤
5

2

−
π

6

√3 + 1

8

+
π

6

√3 + 1

8

−
π

6

√3 − 1

8

https://dl.doubtnut.com/l/_Yr0vMREpVUB5


55. Let 
 be the area bounded by the curve 


 and the lines 
 and 


 Prove that for 


and deduce `1/(2n+2)

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

An

y = (tanx)n x = 0, y = 0,

x = .
π

4

n > 2, An + An− 2 =
1

n − 1

An + An− 2 =
1

n − 1

An + An− 2 <
1

n − 1

An − An− 2 =
1

n − 1

https://dl.doubtnut.com/l/_ufjCdH06vnVd
https://dl.doubtnut.com/l/_ODYpNampzf37


56. The area bounded by the parabola ,

straight line  and y-axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = x

y = 4

3

32

64
3

33

2

16

3

https://dl.doubtnut.com/l/_ODYpNampzf37


57. The area (in square units), bounded by

 and  , is

A.  sq. units

B.  sq. units

C. 9 sq. units

D. none of these

Answer: B

Watch Video Solution

y = 2 − x2 x + y = 0

7
2

9

2

https://dl.doubtnut.com/l/_XTjqXhors4Qe


58. The area bounded by the curve , the x-

axis and the line  is (A)  sq. units (B)  sq. unit

(C)  sq. units (D)  sq. units

A. e

B. 1

C. 

D. 

Answer: B

Watch Video Solution

y = loge x

x = e e 1

(1 − )
1

e
(1 + )

1

e

1 −
1

e

1 +
1

e

https://dl.doubtnut.com/l/_Erm9lpwZlkZG


59. Find the area included between the curves

 and .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 = 4y y2 = 4x

4/3

1/3

16/3

8/3

https://dl.doubtnut.com/l/_PLM6DMeNDZJV


60. If the area above the x-axis, bounded by the

curves  and x = 0, and x = 2 is , then

the value of k is

A. 

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

y = 2kx
3

loge(2)

1/2

−1

https://dl.doubtnut.com/l/_NEoSIDqAjwd2

